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Name: __________________________________



1
When the expression [image: image1.png](x+ 2% +d(x+2) + 3



 is rewritten as the product of two binomials, the result is

	1)
	[image: image2.png](x+ Dx+1)





	2)
	[image: image3.png](x+ 5)(x+3)





	3)
	[image: image4.png](x+ 2)(x+2)





	4)
	[image: image5.png](x+6)(x+1)







2
Which expression is equivalent to [image: image6.png](x+ 22 - 5(x+ 2 +6



?

	1)
	[image: image7.png]




	2)
	[image: image8.png](x—3(x-2)





	3)
	[image: image9.png](x—4)(x+3)





	4)
	[image: image10.png](x—6)(x+1)







3
The expression [image: image11.png](x+a) +5(x+a)+4



 is equivalent to

	1)
	[image: image12.png]@+ e +4)





	2)
	[image: image13.png](x+ Dix+4)





	3)
	[image: image14.png]x+a+ x+a+4)





	4)
	[image: image15.png]2 ral+5x+5a+4







4
The expression [image: image16.png]x*+ 3% - 2% + 3) - 24



 is equivalent to

	1)
	[image: image17.png]x*+ D - 1)





	2)
	[image: image18.png]- D+ T)





	3)
	[image: image19.png]—axto2





	4)
	[image: image20.png]*raxi-o







5
If [image: image21.png][a3+27] - (a+3)[az+ma+9]



, then m equals

	1)
	[image: image22.png]




	2)
	[image: image23.png]




	3)
	3

	4)
	6



6
When factored completely, [image: image24.png]S +m® - 6m



 is equivalent to

	1)
	[image: image25.png](m+ 3)(m—2)





	2)
	[image: image26.png](m* + 3m)(m* - 2)





	3)
	[image: image27.png]m(m* +m® - 6)





	4)
	[image: image28.png]m(m® + (m* - 2)







7
Which expression is equivalent to [image: image29.png]Pyt - 16) - 9(x* - 16)



?

	1)
	[image: image30.png]x 0y~ 162%y* - axt - 144





	2)
	[image: image31.png]oy - 0+ 2P (x- 2)





	3)
	[image: image32.png]@Y+ DY - D+ 0 x-2)°





	4)
	[image: image33.png]@Y+ DY - DE DR -4)







8
Which expression is not equivalent to [image: image34.png]362 - 25



?

	1)
	[image: image35.png]62 (%)% - 52 ph)?





	2)
	[image: image36.png](6x° - 5°)(6x° + 5°)





	3)
	[image: image37.png](62° - 5y*)(62° + 5%





	4)
	[image: image38.png](30 2% - 5y (30 227 + 557







9
The completely factored form of [image: image39.png]2d* + 6d° - 184° - 544



 is

	1)
	[image: image40.png]2d(d* - 9)(d + 3)





	2)
	[image: image41.png]2d(d* + 9)(d + 3)





	3)
	[image: image42.png]2d(d+ 3% (d- 3)





	4)
	[image: image43.png]2d(d- 3% (d+ )







10
What is the completely factored form of [image: image44.png]kY —ak? 4 8k® - 32k + 12k% - 48



?

	1)
	[image: image45.png](k= 2)(k - 2)(k + 3)(k + 4)





	2)
	[image: image46.png](k= 2)(k - 2)(k + 6)(k + 2)





	3)
	[image: image47.png](k+ 2)(k - 2)(k + 3)(k + 4)





	4)
	[image: image48.png](k+ 2)(k - 2)(k + 6)(k + 2)







11
The completely factored form of [image: image49.png]952 4+ 43 - 36m— 1272 + 108



 is

	1)
	[image: image50.png](n*
- 9)(

(n+ 6)(n
-2





	2)
	[image: image51.png](2 + 3)(— 3)(m+ 6) (- 2)





	3)
	[image: image52.png](2= 3)(— 3+ 6)(m—2)





	4)
	[image: image53.png](2 + 3)(—3)(m—6)(m+2)







12
Which factorization is incorrect?

	1)
	[image: image54.png]4k - 49 = (2k + T2k - T)





	2)
	[image: image55.png]F - 8% = (a- 2b)(a® + 2ab + 4b7)






	3)
	[image: image56.png]m® +imt —dm+12=(m-2)*(m+3)





	4)
	[image: image57.png]P st bt 45t 6= (04 D+ 2D+ 3)







13
Which expression has been rewritten correctly to form a true statement?

	1)
	[image: image58.png](x+ 2%+ 2(x+ ) -






	2)
	[image: image59.png]xt v axt £ 028 - 360 = (x4 ) x-2)°





	3)
	[image: image60.png]2+ 3xt —ant - 127





	4)
	[image: image61.png]-4 -5 -4 - 6= (x* - D" - 6)







14
Over the set of integers, factor the expression [image: image62.png]—4xi-12



.

15
Over the set of integers, completely factor [image: image63.png]sxied



.

16
Factor the expression [image: image64.png]222 -9x4+ 18



 completely.

17
Factor [image: image65.png]x* +4x2 —9x-36



 completely.

18
Factor the expression [image: image66.png]2x3 — 3x2 — 18x+ 27



 completely.

19
Over the set of integers, factor the expression [image: image67.png]453 - x2 + 16x—-4



 completely.

20
Factor completely over the set of integers:  [image: image68.png]_oxt + 23+ 18x% - Ox





21
Completely factor the following expression:  [image: image69.png]X4 dxy+ 30 4y





22
Rewrite the expression [image: image70.png][4x’ +
5x) 3
5 [4x’ +
5x)
-6



 as a product of four linear factors.


1
ANS:
2

[image: image71.png]X+ 2



[image: image72.png]wdusd

(w+ D+ 1)
(x+ 2+ x+ 2+ 1)

(x4 5)(x+3)




REF:
081901aii

2
ANS:
1

[image: image73.png]X+ 2



  [image: image74.png]W -Su+6
@-Nu-2)
(x+2-3x+2-2)

(x-x




REF:
012301aii

3
ANS:
3

[image: image75.png](x+a) +5(x+a)+4



  [image: image76.png]ety =x+a

i+ 54
(+ )+ 1)

(rra+d(xea+ 1)




REF:
012006aii

4
ANS:
2

[image: image77.png]x*+ 3% - 2% + 3) - 24



  [image: image78.png]et =x"+3
i - u-24
(- 6)u+4)
(% +3- 6)(x* +3+4)




REF:
062310aii

5
ANS:
2
REF:
081904aii

6
ANS:
4

[image: image79.png]m® +m’ - bm=mimt +m® - 6) = m(m® + D(m* - 2)





REF:
011703aii

7
ANS:
4

[image: image80.png]@yt -9t - 16)
@y + DEEY - D+ - 4)




REF:
081814aii

8
ANS:
3
REF:
062302aii

9
ANS:
3

[image: image81.png]2d(d* +3d* - 9d- 27
2d(d*(d + 3)- 9(d + 3))
2d(d* - 9)(d+3)
2d(d+Bd-2d+3)
2d(d+Dd-3)




REF:
081615aii

10
ANS:
4

[image: image82.png]- 4k® & 8k° - 32k + 1267 - 48
2k - 4) + 8k (k™ - 4) + 12(k% - 4)
(k- 4)(k* + 8k +12)

( + 2)(k - 2)(k + 6)(k + 2)




REF:
fall1505aii

11
ANS:
2

[image: image83.png](9] +4n(n? - 9] - 12(n" - )
[u’+4n—12][u’—9]

(n+ 8)(n= Din+ D=3




REF:
061911aii

12
ANS:
3

[image: image84.png](m-2 (m+ 3= —dm+D(m+ D=m’ +Im* —4m* — 1Im+dm+ 12 2 gm+ 12





REF:
081605aii

13
ANS:
1

1) let [image: image85.png]x+2




, then [image: image86.png]v +2y-8
y+Hy-2)
(x+2+4)(x+2-2)
(x+6)x




REF:
081715aii

14
ANS:


[image: image87.png]



REF:
081825aii

15
ANS:


[image: image88.png]2 -sxted
-4 -1)
(x+ Dx- D+ Dx-1)




REF:
012331aii

16
ANS:


[image: image89.png]X - 22 - 9x+ 18 = X2 (x~ 2) - 9(x - 2

7.279](7.72): (x+ (x-3(x-2)




REF:
082226aii

17
ANS:


[image: image90.png]X+ 4x - 9x- 36 = X2 (x+4) - 9(x+ 4,

xksj(mzs): (x+ (x-3)(x+4)




REF:
012425aii

18
ANS:


[image: image91.png]22° -3 - 18x 4 27
xA(2x-3)- 9(2x-3)
(- 9)(2x-3)
(x4 Dx-3)(2x-3)




REF:
082325aii

19
ANS:


[image: image92.png]=+
4)(4x—
1)




REF:
061727aii

20
ANS:


[image: image93.png]—x(2x° -2 - 18+ 9)
~x(x* (2x - 1) - 9(2x - 1))
—x(x? - 9)(2x- 1)
xrd Dx-D(2x-1)




REF:
062228aii

21
ANS:


[image: image94.png]3+ x4 Ixy+y = 2 0x+ D+ y(xe 1) = [xz+y](37.+ 1




REF:
011828aii

22
ANS:


The expression is of the form [image: image95.png]y

Sy-6



 or [image: image96.png]


.  Let [image: image97.png]


:

[image: image98.png](45" + 526 (42 + 541

(47— 3)(x+ Dz + Dix+ 1)




REF:
fall1512aii

